H #i# B

B R A AF0 44 1H16H (H) BE v b Y —EIEER
Bk BN T ¢ B SN 56 A (Bt 45 - &t 11AN)
HDCP E R :
T—R OUT IN 1/ 2
FNERZHE © 27 m X UNSWIE)  « FE# (K& WIE) FIRI . &Fn 44 1A16H (A)
JIE 57 = INH 4 oUT IN GROSS | HDCP NET i &
IRVANE R 47 42 89 19.0 70.0 |HAEY
2 \L | Veik B— 45 45 90 | 20.0 70.0 |EAHY
3L | e Rk 48 45 93 22.0 71.0 |EHY
4 47 | B8 BEHE 50 46 96 23.0 73.0 |EHY
5 fir | VG H BHF—HD 55 52 107 34.0 73.0 | HAY
6 . | KM FB7E 50 51 101 27.0 74.0 |EHY
70| EH fh 54 50 104 30.0 74.0 |'HAY
8 . | =i HZ 57 49 106 32.0 74.0
9 L | &7 1IE 45 50 95 20.0 75.0
10 A7 | IUA il 51 56 107 32.0 75.0
11 {7 |5 72 KER 49 48 97 21.0 76.0
12 A7 Jm ez 53 50 103 27.0 76.0
13 fif |58 FEAT 52 52 104 28.0 76.0
14 {7 |$TH BT 48 51 99 22.0 77.0
15 A7 | B ] —H 49 56 105 27.0 78.0
16 7 |#& 15 & 55 50 105 27.0 78.0
17 A7 | e s 54 52 106 28.0 78.0
18 iz |HH H& 57 56 113 35.0 78.0
19 {7 | E& &R 51 48 99 20. 0 79.0
20 {7 | FAVH PEC 57 46 103 24.0 79.0
21 {7 | P AEET 56 51 107 28.0 79.0
22 r | ik TE= 50 51 101 21.0 80.0
23 7 | figfar ZRBE 54 52 106 26.0 80.0
24 AL | &l 2454 53 54 107 27.0 80.0
25 ir |18 FEhkd 57 59 116 36. 0 80.0
26 N | fhtl PREAR 48 53 101 20.0 81.0
27 {ir | B 48 55 103 22.0 81.0
28 7 |PEH F5H5 52 60 112 31.0 81.0
29 N7 |J5UH 50 52 102 19.0 83.0
30 iz | FH Hi5 55 49 104 21.0 83.0
31 AL | A FEE 58 53 111 28.0 83.0
32 L | [ &F 59 60 119 36.0 83.0
33 L | Ki% & 60 59 119 36.0 83.0
34 A7 |t BESE 50 54 104 20. 0 84.0
35 fir. | =% J\E[ 47 58 105 21.0 84.0
36 iz |NH 37 51 54 105 21.0 84.0
37 AL | HhE ot 53 58 111 27.0 84. 0
38 L | PO fEH] 59 58 117 33.0 84.0
39 fir | H B5— 62 58 120 36.0 84.0
40 7 [1ha 5% 54 51 105 19.0 86. 0
41 A7 | =1L BUE 58 59 117 31.0 86. 0
42 {7 |RH LT 53 53 106 19.0 87.0
43 | =4 1Es 53 55 108 21.0 87.0
44 AL |BEAR BT 59 48 107 19.0 88.0
45 fr | FEIRg #%F 57 55 112 23.0 89.0
46 {ir | Bl FRELR 55 57 112 23.0 89.0
47 A | SR 56 56 112 23.0 89.0
0 0

48 fir | B B 69 56 125 36. 89.
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FNEALIRE © e 2 UNEWIIE) -« Ff (RE WIIE) FiRl . 4%n 44 1A 16H (H)
JIEAE. Z N4 oUT IN GROSS | HDCP NET =

49 N7 | A gEhid 57 65 122 31.0 91.0

50 i | fiHL ESE 60 60 120 26.0 94.0

51 {7 | &) =47 67 64 131 36.0 95.0

52 fif | A A 59 57 116 19.0 97.0

53 fif | & H &K 56 61 117 20. 0 97.0

54 | &) & 67 56 123 24.0 99.0

55 i | fiEfk 1% 67 61 128 26.0 | 102.0

56 {if | faAS IF 76 67 143 33.0 | 110.0




